Chapter 5 Review #1 (5.3/5.4) Prob/Stats Name K/& N

Show all sketches and work. O

Use the standard normal table to find the z-score that corresponds to the given cumulative area or
percentile. If the area is not in the table, use the entry closest to the area. If the area is halfway between
two entries, use the z-score halfway between the corresponding z-scores.
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Find the indicated z-score.
7. Find the z-score that has 12.5% of the distribution’s area to its left.
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8. Find the z-score that has 4.25% of the distribution’s area to its right.
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9. Find the two z-scores for which 48% of the distribution’s area lies between —z and z.
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10. In a survey of women in the United States (ages 20-29), the mean height was 64 inches with a standard
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deviation of 2.75 inches. Ad oy gy 1S
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11. The weights of bags of cookies are normally distributed with a mean of 15 ounces and a standard
deviation of 0.15 ounces. Bags of cookies that have weights in the upper 5.5% . .,
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A population has a mean u and a standard deviation 0. Find the mean and standard deviation of the
sampling distribution of sample means with sample size n.

12. p=45,0=15,n=50 13. u=1275,0 =6,n= 1000
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The population mean and standard deviation are given. Find the probability and determine whether the
given sample mean would be considered unusual.

14. For a random sample of n = 100, find the probability of a sample mean being greater than 24.3 when
p=24and g =1.25. _ .
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Find the mean and standard deviation of the indicated sampling distribution of sample means. Then sketch

a graph of the sampling distribution.

15. The scores for females on the critical reading portion of the SAT in 2016 are normally distributed,
with a mean of 493 and a standard deviation of 114. Random samples of size 36 are drawn from this
population, and thc mcan of each sample is determined.
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Find the indicated probabilities and interpret the results.

16. From 1871 through 2016, the mean return of the Standard Poor’s 500 was 10.72%. A random sample
of 38 years is selected from this population. What is the probability that the mean return for the
sample was between 9.1% and 10.3%. Assume 0 = 18.60%1rors on this
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17. A machine is set to fill milk containers with a mean of 64 ounces and a standard deviation of 0.11
ounce. A random sample of 40 containers has a mean of 64.05 ounces. The machine needs to be reset
when the mean of a random sample is unusual. Does the machine need to be reset?
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